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30 (R) -5 5.45
6-10 3.45
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PRESIARR CHD R
0, 1] 0. 20
(1, 2] 0. 30
(2, 3] 0. 40
(3, 4] 0. 50
(4, 5] 0. 60
(5, 6] 0.70
6, 7] 0.75
(7, 8] 0. 80
(8, 9] 0. 85
(9, 10] 0. 90
(10, 11] 0.95
(11, 12] 1.00
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[0, 30] [1.00, 1.10]
(30, 60] [0.90, 1.00)
(60, 90] [0.80, 0.90)
(90, 180] [0.70, 0.80)
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PR &8 (7o) R R
(0, 1000] (0. 85, 0. 90]
(1000, 3000] (0. 90, 0. 95]
(3000, 5000] (0. 95, 1. 00]
(5000, 8000] (1.00, 1. 10]
(8000, 10000] (1.10, 1. 20]
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(1.20, 1. 30]
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[0, 100] [1.20, 1. 30]
(100, 200] [1.10, 1. 20)
(200, 300] [1.00, 1. 10)
(300, 500] [0.90, 1. 00)
>500 0. 80
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T Ak LL 451 T R A
100% 1. 00
95% 0.95
90% 0. 90
85% 0.85
80% 0. 80
70% 0. 70
60% 0. 60
50% 0. 50
40% 0. 40
30% 0. 30
20% 0.20
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f 0.8
y 1.0
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ZIRNEL WHEERE
0, 50] 1.15
(50, 100] 1.10
(100, 200] 1.00
(200, 500] 0.95
(500, 1000] 0.90
(1000, 3000] 0.85
(3000, 5000] 0. 80
(5000, 10000] 0.75
>10000 0. 70
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(0, 45%) [0.50, 0.60)
[45%, 55%) [0.60, 0.70)
[55%, 65%) [0. 70, 0.85)
[65%, 75%) [0.85, 1.00)
[75%, 85%) [1.00, 1.15)
[85%, 95%) [1.15, 1.30)
=95% [1.30, 5.00]
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